
ウ エ

dozen

エ

ア

I will [ am going to ] visit Australia next month.

The windows were broken by him.

Where does Mary live?

My brother is taller than my father.

Don't speak in a loud voice.

May I help you?

what kind of flower would you like [do you want]?

I think red roses will be good

I left my phone at home

You can use it. ／ Do you want to use it ?

I want her to pick me up

I don't have any money with me

player players イ

ウ

エ ウ

ア イ ア オ カ

エ エ You don't have to

地元の病院では、その女性を救えないと思ったから

イ

イアアイキエ

エ オ

３点×１０＝３０点

３点×８＝２４点

１点×３＝ ３点
３点×７＝２１点

２点×１１＝２２点

完全解答

順不同２点×２＝４点

２点×３＝６点

１ 完全解答１１

※Ａの問２以外の
解答は例です。



難
し
い

貯
め
る

捕
ま
え
る

志
す

弾
む

墓
石
・
お
墓
な
ど

よ
し
と
し
よ
う

や

や
ま
い
だ
れ

し
か
し

ど
う
し
て
も

あ
と
を
引
く
。

ア

目

ウ

ア

エ

ウエ

き
わ
め
て

農
耕

獲
物

む
じ
ゅ
ん

遺
伝

じ
ゅ
う
な
ん問

題
解
決

デ
ー
タ
（
記
号
）

意
味

知
る

源
氏
の
君
に
よ
き
事
を
寄
り
集
め
て
書
け
る

紫
式
部

本
質

ウ

ウ

ウ過
去
の
経
験
を
蓄
積
し
、
過
去
の
デ
ー

タ
に
学
ん
で
、
現
在
の
行
動
モ
デ
ル

を
つ
く
り
、
変
動
す
る
未
来
に
論
理

的
に
対
処
し
て
き
た
か
ら
。

薄
く
切
ろ

う
と
し
て

失
敗
し

、
今
度

は
思
い
切

っ
て
厚
く

切
っ
た

結
果

、

か
え
っ
て

減
り
方
が

目
立
っ

て
し
ま

っ
た
か
ら
。

生
命
活
動

が
価
値
観

を
も
た

ら
し
て

い
る
た
め
。

ア

各２点×１０＝２０点２点×１ ３点×６ ４点×１ ６点×１＝３０点

２点×１３点×６＝２０点２点×８ ４点×２ ６点×１＝３０点
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３



ウ オ

ウ ア

エ イ

ア

イ ウ エ イ

ア オ イ

エ

藤原道長 祇園祭

明厳島神社

ベルサイユ宮殿 元禄文化

寺子屋

１６４１ 長崎 新潟

学制ウエオカ

福沢諭吉 岩倉具視

三国同盟 三国協商

葛飾北斎

愛知県

社会保険 公的扶助 公衆衛生

大気汚染

配当株式 株主

モノカルチャー経済

地方交付税交付金 国庫支出金 地方債

総 ２／３ 有効投票

国事行為 集団的自衛権

累進課税 ウ・キ

ウ

配点～各２点

完全解答

完全解答



6𝑥 + 3

7

9 + 4 5

−
6
5

𝑥 + 3

5 ± 13
6

3𝑥2 + 5𝑥 − 2

13または 33

36

2

2 1

0−1

220

50

6.9

10 5 + 5 17

200

コ エ

イ

配点～各５点×２０



ア ウ

無 ２ １ イ

ウ

甲殻 生態系

虹彩網膜

形質 遺伝 純系

対立形質

イ・エウ・オ

ＨＣｌ Ｃｌ⁻

青（うすい青）

発熱反応

大きい

２ＨＣｌ＋Ｍｇ→ＭｇＣｌ₂ ＋Ｈ₂

放射線

光 ＬＥＤ

天然ガス石炭 石油

カーボンニュートラル

凝結

１３．８ｇ

露点膨張

１０３３６ｍｍ ６０８ｍｍ

ア・イ・ウ 高から低

放射能

ウランバイオマス変換効率

熱

赤

Ｈ⁺

エ

蒸散

１６５ｇ １０．７％

（完全解答で２点）Ｘ線 α線 β線 γ線 中性子線 から３つ

４点

配点～各２点


